Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering Semester —I/II Examination Jan. 2012

Subject code: 320043 Date: 21/01/2012
Subject Name: Financial Accounting-I

Time: 10.30 am — 01.00 pm Total Marks: 70
Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered Authentic.

Q.1 (@) Pass-Book of Mahilal shows a bank balance of Rs. 6,000 as on 30- 07
04-2011, which does not agree with the bank balance as per cash-
book.

From the following information, prepare a bank reconciliation
statement.

(1) During the month of April, cheques of Rs. 10,000 were
deposited in bank, out of which cheques of Rs. 5,900
realized in May, 2011.

(2) Cheques of Rs. 2,000 has still not been presented in bank.

(3) Bank commission Rs. 24 recorded in Pass-Book has not
been recorded in cash book.

(4) One customer has directly deposited Rs. 2,000 in bank.

(b)  Write short notes on: 07
(a) Advantages of Bank Reconciliation Statement.
(b) Characteristics of a Bill.
Q.2 (@) Manu of Ahmadabad consigned goods of Rs. 2,00,000 to Sonali of 07
Anand and paid Rs. 18,000 for carriage. Manu drew a bill of Rs.
70,000 which was accepted by Sonali. It was discounted by Manu
for Rs. 68,500 after a month. Sonali paid Rs. 5,000 for
advertisement and sold all the goods for Rs. 3,50,000. Sonali is
entitled to a commission of 2.5% on sales. Sonali paid the balance
amount by bank draft.
Prepare Sonali’s A/C and Consignment A/C in the books of Manu.

(b) Distinguish between Bill and Promissory Note. 07
OR
(b)  Explain the following: 07
(a) Del Credere Commission
(b) Noting Charges
Q.3 (@) Mahabaal sold goods of Rs. 2,00,000 at 10% trade discount to 07
Shardul on 01-02-2011. Shardul paid cash Rs. 1,00,000 and accepted
a bill for balance amount for 3 months period, drawn by Mahabaal
on 04-02-2011. Mahabaal discounted the said bill at 12% discount
p.a. with the bank. The bill was dishonored on the due date and
Mahabaal paid the bill amount with noting charges Rs. 500.
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Pass journal entries in the books of Mahabaal and Shardul for the
above transactions.
Explain the difference between Hire Purchase System and
Installment System.

OR
Explain “Account Sales” in Consignment.
Differentiate between Leasing and Hire Purchase System.

Babulal purchased a machine on Installment System. The cash price
of the machine was Rs. 7,450. Rs. 2,000 was to be paid on delivery
and the balance in three installments of Rs. 2,000 each at the end of
each year. Interest is charged at 5% p.a. Depreciate machinery at
10% by Reducing Balance Method.
Prepare necessary Ledger Accounts in the books of buyer.
Explain Goods in Transit.

OR

Bhajanlal Ltd. Of Seurat has a branch at Anand. From the following
particulars prepare Anand Branch A/C for the year ended on 31-03-
2011 in the books of H.O.

Particulars Rs.
Stock of goods (01-04-2010) 10,000
Petty Cash (01-04-2010) 200
Prepaid Expenses (01-04-2010) 8,100
Goods sent to Branch 2,60,000
Goods returned by branch 30,000
Cash sent to the branch for the following expenses:

Wages 2,000

Salary 20,000

Rent & Taxes 5,000

Other Expenses 3,000 30,000
Goods sold by the branch 4,00,000
Prepaid expenses(31-03-2011) 4,000
Petty Cash(31-13-2011) 250
Petty Cash sent to branch 1,050

Explain the types of Leases.

Explain: Limitations of Leasing.
Explain: Objectives of Branch Account.
OR
What are the Characteristics of Lease.
Explain :
(a) Cash in Transit
(b) Hire Purchase System
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